m_2_log_nerce_priklady

Logaritmické nerovnice (4)

1. Logaritmické nerovnice (a > 0) I.
1) Reste WR:
log, (4x - 4)-log,(3-x) > 2

VH: x0(2;3)

2) Reste WR:
log(x +2) - log(x-1) > 2 - log 4
VH: xO(1;2)

3) Reste \R:
log(x-13)-log(x-3)21-log2
VH:x<1; NR

4) Reste WR:

log(x - 3) - log(x - 2) >1-log5
VH:x<1 NR

5) Reste WR:
log(x+3) +log(x—3) 2 20og(x +1)
VH: x<-5 NR

6) Reste \R:
log(7x+6) =1+ log(3x - 4)
VH: xO(4;2)

2. Logaritmické nerovnice (a > 0) Il.
1) Reste WR:
log(x+3) +log(x-2)< 2-log2
VH:x -8 %, =7, x0(2;7)
2) Reste \R:
log(x +4) +log(x -5) <1
VH: x #-5 x,=6; x0(5;6)
3) Reste \R:
log(x - 4)+log(x +5) <1
VH: x, # -6,%, =5, x[0(4;5)
4) Reste WR:
log(x +1)+log(x -1) - log(x - 2) > log8
VH: x =5%,=3 x0(2;3)0(5;%)
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Logaritmické nerovnice (a > 0) III.
Reste WR:

Iog7(x2 —8x+7)sl

VH: x0(0;2)0(7;8)
Reste WR:

log, (x* -3x+2)<1

VH: x0(0;1)0(2;3)
Reste WR:

Iogs(x2 —5x+6)>1

VH: x0 (=0 ;0)0(5;)
Reste WR:

log,(x? ~10x+9)> 2
VH: x0(- oo ;0>D<10;oo)
Redte WR:

Iogz(x2 —-5X+ 4)2 2

VH: x O (- o0 ;0>D<5;<>0)

. Logaritmické nerovnice (a < 0) I.

Redte VR:

log, (2x + 4)-log.(x - 3) = log, 7

VH: x0(5; o)

Reste WR:

log, (x+1)+log, (x-1)-log, x<log, (x+3)
VH: NR

Redte VR:

log, (x-2)+log, (x +2) = 2log, (4 - x)
VH: x0(2;%)

Reste WR:

log, (x+4)-log, (x-1) <log, 8+1
VH: x0O(16)
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5. Logaritmické nerovnice (a < 0) Il.
1) Reste WR:

2Elbgov8(x— 2) < Iog0v8(14— x)

VH: % #-2,%, =5, x0(5;14)
2) Reste \R:

ZI:Ibgng(X—l) 2 |090.3(7_ X)

VH:x #-2,%, =3 x0(1;3)
3) Reste \R:

20og,, (x +2) < log,, (10— x)

VH: x, # -6, x, =1, x0(1;10)
4) Reste WR:

2[og,, (x + l) <log,, (11— x)

VH:x, #-5x,=2 x0(2;11)
5) Reste WR:

log,, (2x +10) > 2Iogov7(x +1)

VH: X, 2-3x, =3, x0(3 )
6) Reste \R:

log, (x+1)+log, (x+3)= -1

VH: X # 4%, =0, xO(-1;0)
7) Resdte \R:

log, (x+1)+log, (x-1) > -1

VH: X, # -2, X, =2, x[l(l;z)

6. Logaritmické nerovnice (a < 0)Ill.
1) Reste WR:
Iogm.,(x2 - 2x)> log,s3
Sb-rcex0(-1;0)0(2;3) ...str. 157/3.4 - 3)
2) Reste WR:
0g,,,(x? +12x+32)<log, ,(x+2)
VH: x0(-2;)
3) Reste \R:
log, (x2 —8x)+ 220
Sb-rcex0(-1;0)0(8;9) ...str. 157/3.4 - 11)
4) Redte VR:
Iog%(x2 +3x+2)+120
VH: x0(-3;-2)0(-1;0)
5) Reste WR:
Iog% (x2 - 2x) >-1
VSE:x0(-1;0)0(2;3)
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